N
o
o

=

[

(@]
o

.......................................

Tl

................................................

< OX>(Um)
o

100F---1 —~200

-10

o
o

rged vertices (Um)

|
N
o
o

< & X > (Um) tor PV

-600

.............................................

< Q0 X >for mel

i
+

Ratio

T
;
o

g
:
T
:

70 80 90 100 9936730 40 50 60 70 80 90 100 0 30 40 50 60 70 80 90 100
Simulated interactions Simulated interactions Simulated interactions

40 50

Egvzm Etg:gggl;liiE'E[:Eé’tzéinomFiIe3125_v2_preIimWPM_epoch4
—m i 1d —réatrainOIdFiIeSIZS v2 prelimWPM epoch4

50 - - = 10 - =000 T M T
= F 5 E 1 5 E T o
s £ : ~n o 8f o t Lo
g A B A >~ [ : 8 800 e deeend
C : : o C = - o
= L . . P . . .
= . . \V4 (] o . . .
TARTC o) N 1 A DU A O N oot
> P : B B00f-+-ieefokf oot S SEITIe
< [ : : =2 I : : :
\ L H H Q r . . .
20+ o[ o B SR E I P
S A : § A0 S
e et S . . e
S I R It : © 200 i off e R S
r TR + : : : v r R
OF ¥4 % + iR 5 S Lo
: S R 3 of O e
o =10f 1 PSRN SRR B A LI ! o QLW' L THITE FRURE FRURE Y. N T
= 5 5 5 '
14 [ : : : : : o [ : : : : : : ] o [ : : B B B B ]
- : : : T Ty R 1 : : : : v E A Bl i : : : T
085—"50 B0 70 B0 — 80100 09555640 50 60 70 80 90100 09565540 50 60 70 80 90 100

Simulated interactions Simulated interactions Simulated interactions

> 50 E = £2000r
PO T N A A R = E
2 : A F7E10)0)| MOPRRCSURY P D DU SR AN I
’é\ 30F : g .% [ -
3 E : o B
=~ = . \ L
N 5 SLO00f- -+ [eeehee e e
_ . (0]
o 10F ] o r
Y E : © [
oF £ BOOJ---+heerfbocfoeboneedione s den i
-10F : =t 1
C . 0_ .........
AL e S B A S >
| O e S S N VAR S
SO : 00| ERRRE RN
—40;— """""""""""""""""""""""""""""" r
‘9_;5‘9: ] ] ] 1 ° _QIOGC_II ] ] ] [
T [ T = .
g o d [ ST L B
Bl B o B o ey o ERRETERREE - T | ERRETLEEE T TR e
%0 50 60 70 80 90 100 %9030 40 50 60 70 80 90 100 0936~30 40 50 60 70 80 90 100

Simulated interactions Simulated interactions Simulated interactions



	Contents
	Page 1


